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1 Introduction
In RAN1#78bis meeting D2D resource collision was discussed and following bullets were agreed based on WF [1],

Agreement: 

· When transmissions of D2DSS/PD2DSCH overlap in time in a given carrier in a single UE with any other D2D channel, the UE transmits D2DSS/PD2DSCH 

· FFS whether the “other D2D channel” can be punctured or is not transmitted

· FFS until RAN1#79: 

· When SA and D2D data overlap in time and frequency in a given carrier in a single UE, the UE transmits SA and not the D2D data
· When any other D2D channel transmissions overlap in time and frequency in a single UE, no behaviour is specified. 

· Apart from D2DSS/PD2DSCH, if two D2D channels overlap in time and frequency, which one to receive is up to UE implementation

In this contribution we discuss these FFS points and show our views accordingly.
2 Discussion
From the agreement we see D2DSS/PD2DSCH transmission has highest priority so in any collision case such channels will be transmitted. Regarding the handling of other channel transmission in the same subframe (e.g., SA, data or discovery), we think it is necessary to discuss two cases due to the relation on multi-cluster transmission capability. 

1) Other channel’s resource is continuous with D2DSS/PD2DSCH (collision in both time and frequency domain)
This case does not require multi-cluster transmission capability for D2D transmitter and it includes the case that other channel and D2DSS/PD2DSCH do no overlap and the case that they overlap partially or fully in frequency domain. If other channel does not overlap with D2DSS/PD2DSCH in frequency, it could be transmitted if PSD difference is not so large. Otherwise, we think up to UE implementation is sufficient to solve the collision. The amount of PSD difference UE shall support would be RAN4 discussion but leave up to UE implementation is certainly one approach. Different UE could have different handling depending on the understanding on the priority rule. And depending on the overlapped ratio (e.g., 1/6 resource is collided or 1/2 resource is collided in frequency), the handling may also be different. 
The situation could be similarly handled – up to UE implementation if any other two channels (e.g., SA and data) collide in time and frequency domain.       
2) Other channel’s resource is non-continuous with D2DSS/PD2DSCH (collision is only in time domain)
In this case, there is no collision in frequency domain in the same subframe but UE is required to be capable to multi-cluster transmissions.  If D2D transmitter supports multi-cluster transmission for D2D, there is no problem to transmit these two channels (even more channels) simultaneously.  Otherwise, no transmission of other channel is the natural choice. For any other two channels (e.g., SA and data), the similar handling could be applied. Because of the test/IOT will be different between D2D and WAN, we think the capability of WAN multi-cluster transmission and the capability of D2D multi cluster would be different.
Transmitter behaviour is mainly discussed above. For receiver, basically if no collision is found in frequency domain, all the channels can be received as far as received signal level are within certain range. Otherwise, it could be up to UE implementation to receive which channel in our view.  

3 Conclusion

In this contribution we discussed D2D channel collision handling for transmitter behavior as well as receiver behavior. Based on the discussions, we would like to propose 
If the channels do not collide in frequency domain (only in time domain),

Proposal 1: Transmitter can transmit both channels based on conditions below,

· It supports multi-cluster transmission

· PSD difference is not large based on RAN4 performance requirement 
Otherwise, transmitter should transmit D2DSS/PD2DSCH. If no D2DSS/PD2DSCH, the handling is up to 
UE implementation
Proposal 2: Receiver could receive all channels as long as received signal levels are within certain range
If the channels collide in both frequency domain and time domain, 
Proposal 3: It is up to UE implementation to handle the collision for both transmitter and receiver 
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